ICS110B, VMIC3123 and HyTec8401 test results

1. Linearity test
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    Obviously ICS110B is better than VMIC3123 and VMIC3123 is better than HyTec8401 in precision and accuracy. And the output curve of ICS110B is a third order polynomial but not linearity. So its output value has to be calibrated using third order polynomial. 

2. Thermal drift test

All ADC modules are installed in the same IOC and connected to the same input voltage. So we can get a comparable result.

The thermal drift test results are shown in below figure.
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From above fitting curve we can calculate the offset drift and gain drift as following:

	
	ICS110B
	VMIC3123
	HyTec8401

	Offset drift
	-13 ± 9 uV
	-25 ± 6 uV
	67 ± 11 uV

	Gain drift
	128 ±6 PPM
	34 ± 4 PPM
	8 ± 7 PPM


3. Simulator test
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    From above test results it is obviously only ICS110B and VMIC3123 can meet the requirements of BLM system. And the deviation of pulse integration from ICS110B is much lower than VMIC3123.
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VMIC3123 output curve
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HyTec8401 output curve
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ADC Readback error after calibration
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